Exploring State Self-Compassion and State Negative Affect in Daily Life Using Experience Sampling Methodology: A Bivariate Cross-Lagged Panel Model Approach

Suhad Eltohami Ahmed

Master Thesis

University of Twente

Positive Clinical Psychology and Technology

Faculty of Behavioural, Management and Social Sciences (BMS)

First Supervisor: Dr. Jannis T. Kraiss

Second Supervisor: Dr. Thomas R. Vaessen

November 2024

Abstract

Background. Self-compassion (SC) has been linked to lower negative affect (NA) at the between-person trait level. As SC may function as a protective mechanism, essential in the moment and thus state level, this study investigated its underexplored within-person relationship with NA. Using experience sampling data and a bivariate cross-lagged panel approach, the bidirectional associations between state SC and state NA were examined. Additionally, the study assessed SC's within-person and between-person variability in the data. **Methods.** A secondary analysis was conducted on the data collected over two weeks. State SC was measured with two items, and state NA with four items, three times per day. Linear mixed modelling (LMM) was used to analyse within-person, time-lagged associations of the sample (N = 108, $M_{Age} = 28.2$, 74.1% female). Intraclass correlation coefficients (ICC) were used to calculate the within-person and between-person variability of SC.

Results. LMMs showed no significant cross-lagged predictive associations between state SC and state NA at the group level. Individual analyses revealed variability, with some participants showing predictive associations. The ICC indicated substantial between-person (41%) and within-person variability (59%) in state SC.

Discussion. Despite the insignificant cross-lagged associations, the potential predictive associations cannot be entirely rejected, especially because the study used few daily measures and did not account for potential moderators such as trait SC, mindfulness, and emotion regulation strategies. The within-person and between-person variability found underscores the importance of viewing SC as both a trait and a state-level construct, challenging the traditional characterisation of SC as solely a trait. Future research should aim to replicate these findings with increased sampling frequency and investigate moderating factors to capture rapid fluctuations and better understand the dynamic interactions between SC and NA in everyday life.

Introduction

Clinical psychology has been predominantly focused on pathology in the past but has shifted to include the study of human happiness and well-being in the last decades, emerging as positive psychology (e.g. Gable & Haidt, 2005; Seligman & Csikszentmihalyi, 2000). A central concept of positive psychology is self-compassion (SC), introduced by Neff (2003), which refers to the practice of extending unconditional kindness toward oneself (Bohlmeijer & Hulsbergen, 2018; Neff, 2003a). In recent years, SC has gained attention in research as it has been connected to enhanced subjective and psychological well-being, as well as lower experience of negative emotions, such as sadness, fear and stress (Neff, 2003a; MacBeth & Gumley, 2012). One reason may be that SC plays an important role in regulating negative emotions, often called negative affect (NA; Arimitsu & Hofmann, 2015; Guan et al., 2021). NA reflects the frequency and intensity of unpleasant emotions and is also used as a measurable indicator of (reduced) affective well-being (Watson et al., 1988). Central to this regulation is the idea that SC functions as an adaptive mechanism, helping individuals navigate adversity and potentially mitigating the impact of NA (Trompetter et al., 2017). Given that psychological resilience and adaptation are inherently dynamic processes (Kalisch et al., 2017), it is crucial to investigate how SC and NA interact in everyday life. However, the dynamic interplay between SC and NA remains underexplored despite its recognised importance.

Self-Compassion and Well-being

SC can be defined by three interacting elements, namely, 1) self-kindness, 2) common humanity, and 3) mindfulness (Neff, 2003b, 2023). Self-kindness is the ability to extend kindness towards oneself, counteracting self-critical tendencies, especially during adversities. Common humanity acknowledges suffering as a universal human experience instead of an isolated and personal one. Lastly, mindfulness entails an attentive and non-judgemental awareness of emotions, preventing over-identification and becoming overwhelmed with negative feelings (Neff, 2003c, 2003a). Numerous studies highlighted the positive association between SC and well-being, as demonstrated in a meta-analysis by Zessin and colleagues (2015b). SC has also been connected to lower rates of psychopathology, such as depression, anxiety, and post-traumatic stress disorder (e.g. MacBeth & Gumley, 2012; Muris & Petrocchi, 2017; Svendsen et al., 2016), as well as greater life satisfaction, self-acceptance, social connectedness, and optimism (e.g. Keyes, 2005; Neff et al., 2007). Moreover, individuals with higher SC reported lower susceptibility and intensity of negative emotions (Arimitsu & Hofmann, 2015; Guan et al., 2021; Zessin et al., 2015b). A commonly accepted theoretical viewpoint suggests that SC functions as a resilience or adaption mechanism, potentially reducing NA, and diminishing or mitigating its impact (Trompetter et al., 2017). One possible explanation for this theory is that reacting with SC to adversity reduces its impact through a mindful attitude, as the situation is perceived as temporary, less distressing, and manageable. This perception may reduce the NA or even bring about a shift from negative to positive emotions (Terry & Leary, 2011). This explanation is also in line with the prominent set-point theory, which suggests that after positive or negative events, individuals experience a short increase or decrease in well-being before returning to their normal baseline (Luhmann et al., 2012).

State Self-Compassion and State Negative Affect in Everyday Life

To date, most studies have focused on SC as a trait, primarily using cross-sectional designs (Faustino, 2022). As a trait, SC is conceptualised as a more enduring, stable disposition that shows variability between persons (Neff et al., 2007). In recent years, studies have also demonstrated that SC is highly variable within individuals, likely due to everyday life's dynamic and ever-changing nature (Breines & Chen, 2013; Faustino, 2022). Therefore, SC can also be understood as a state, reflecting moment-to-moment variability. Additionally, researchers suggest that adaptation to daily adversities is a highly dynamic and complex

process involving various resilient factors (Kalisch et al., 2017; Ong & Leger, 2022). Therefore, as SC would be framed as a dynamic adaptation process, it is essential to examine SC as such a dynamic construct and investigate its association with NA in everyday life from a state perspective. In fact, Wiesma (2024) even found that state SC plays a more significant role in moderating the relationship between daily adversities and affect than trait SC. A suitable method to investigate SC in everyday life is the experience sampling method (ESM). ESM is a diary technique that employs smartphones, in which participants must self-report their emotions and experiences in their everyday lives multiple times a day for a set period (Ader et al., 2022; Myin-Germeys & Kuppens, 2022). Data obtained from ESM makes it possible to examine temporal relations between variables over relatively short periods due to the repeated assessment of the constructs (Myin-Germeys et al., 2018). However, few studies have investigated state SC and state NA using ESM. Hanebaum (2021) found that higher levels of state SC were associated with slight increases in subjective well-being. Mey and colleagues (2023) showed that individuals who reported higher state SC momentarily experienced increased positive affect and reduced NA. Additionally, more state SC was associated with lower stress reactivity, and exploratory analysis revealed that recent SC predicted subsequent affect more strongly than the reverse (Mey et al., 2023). Similarly, Scott et al. (2024) found that state SC moderated the link between daily stressor exposure and state NA experienced by older adults. Thus, the positive association between state SC and state NA is well established.

The current understanding of SC suggests that its beneficial effects on NA drive the association between SC and NA at the within-person level. However, apart from Mey et al. (2023), who found a weak association, no study has examined the temporal dynamics between state SC and state NA by investigating whether heightened state SC precedes a reduction in state NA. Research also has yet to explore the possibility of a reciprocal relationship, where fluctuations in state NA might subsequently influence state SC in everyday life. According to

the adaptation hypothesis, SC is essential after individuals' baseline levels of NA are heightened, for instance, during everyday challenges. In those moments, SC can facilitate emotional adaptation. Thus, SC may be particularly elevated when an individual's NA is high. On the other hand, there may be no need for high SC to facilitate adaptation when an individual is feeling fine (Hanebaum, 2021; Odou & Brinker, 2015; Stutts et al., 2018). This suggests that, at the state level, self-compassionate individuals may show a positive association between NA and SC, where an increase in NA is followed by heightened SC in the next moment. This association would directly contrast the patterns observed at the between-person level, where SC is generally associated with lower NA (Zessin et al., 2015). This dynamic, within-person association cannot be captured through traditional cross-sectional studies. Additionally, investigating these dynamics could provide insights into how SC operates in real-time, potentially helping individuals cultivate greater SC as an adaptive strategy (Terry & Leary, 2011b). This lack of consideration for the temporal sequence and possible bidirectional relationship is a key limitation of existing research.

Bivariate Cross-lagged Panel Model of State Self-Compassion and State Negative Affect

One solution is to investigate how state SC and state NA influence each other over time in both directions using a bivariate cross-lagged analysis (Hamaker et al., 2018; see Figure 1).

Figure 1

Bivariate Cross-lagged Panel Model of Self-Compassion and Negative Affect



This model depicts a representation of a bivariate cross-lagged panel design focusing on the within dynamics between state SC and state NA (Hamaker et al., 2018). Each variable is represented twice in the figure. Once in a lagged form (t-1) corresponding to an earlier moment in time, and once in form (t). Additionally, four parameters can be seen as arrows. These include two autoregressive and cross-lagged parameters (Hamaker et al., 2018). The autoregression shows how the two variables at an earlier time point (t-1) are associated with themselves at a later time point (t). The cross-lagged parameters are particularly relevant for this thesis as they illustrate the lagged association between these two variables. Applying this model to investigate the relationship between state SC and state NA bidirectionally provides valuable insights into whether elevated SC can reduce NA in the following moment, and whether high NA might subsequently increase SC. Thus, this approach addresses the limitations of previous studies by capturing the dynamic interplay between these variables over time.

The bivariate cross-lagged panel model is based on the assumption that SC as an adaptation mechanism shows variations in everyday life, therefore exhibiting state-like characteristics. Consequently, it is essential to investigate whether SC shows daily fluctuations. One study that examined this, conducted by Scott and colleagues (2024), revealed that 37% of the variation in SC was attributable to fluctuations within individuals over time. Thus, SC demonstrated significant variability at both the between- and within-person levels. However, they used a sample of older adults that may not be generalisable to the whole population. Similarly, Hanebaum (2021) found an ICC of 0.38 for SC in his sample, indicating that 38% of the total variance was attributable to differences between individuals, while the remaining 62% was due to fluctuations within individuals. This exploitation may also help to give insight into the trait vs state discussion regarding SC (Faustino, 2022). Thus, the variability of SC within the dataset will be examined.

Aim of this Study

To conclude, this paper aims to investigate the potential bidirectional association between state SC and state NA. While the association of state SC and state NA is fairly established, the temporal dynamics and especially the possible influence of state NA on subsequent state SC have not been investigated in depth. A bivariate cross-lagged panel model has been chosen to understand the temporal relationship between the two variables. Although Mey et al. (2023) investigated the bidirectional association, no study has used a cross-lagged approach. An assumption for this cross-lagged model is the dynamic character of SC. However, there is little research into the within and between variability of SC. Thus, the degree to which SC shows variability between and within individuals in this dataset will also be investigated. Grounded in the outline, the following research questions emerge:

RQ1: How are state self-compassion and state negative affect associated over two weeks, as explored through a cross-lagged panel approach?

RQ2: How does self-compassion vary within and between individuals over the time period of two weeks?

It is hypothesised that higher levels of state SC at one time point (t-1) will predict lower levels of state NA at subsequent time points (t1) within individuals over the two-week period. Additionally, it is hypothesised that higher levels of state NA at one time point (t-1) will predict higher levels of state SC at the subsequent time point (t1) within individuals over the two-week period. Given the lack of research investigating the reverse relationship, this hypothesis is more exploratory. Finally, it is hypothesised that SC will vary significantly within and between individuals over the two weeks period with the degree of within-person variability being greater than that of between-person variability.

Method

Participants

This study used an existing data set collected during a master thesis project regarding mental health in daily life (Faesing, 2022; Schleich, 2022). The participants were recruited through the Sona System, the test subject arrangement of the University of Twente, and from the researcher's acquaintances. Due to the rather high burden of ESM studies, individuals accessible to the researcher were recruited to increase willingness to participate (Eisele et al., 2022). Therefore, non-random convenience sampling was applied. The participation condition entailed a) ownership of a smartphone with an internet connection, b) availability of an email address, and c) sufficient command of English or German to comprehend and adhere to the study. The project aimed at a sample size of 50, deemed adequate given that the average participant size for ESM studies is 53 (Van Berkel et al., 2017). Power analyses were not conducted due to the complexities of multilevel modelling in ESM studies (Myin-Germeys & Kuppens, 2022b; Trull & Ebner-Priemer, 2020).

Design and Procedure

A within-group ESM design was employed for the longitudinal study to investigate various variables. The project received ethical approval from the Ethics Committee of Behavioural, Management and Social Sciences of the University of Twente [#211225; #220220] (Faesing, 2022; Schleich, 2022). The online research platform Avicenna Research (https://avicennaresearch.com/; called Ethica Data in 2022) was employed for the ESM data collection. After the study was set up, a three-day pilot trial was conducted using the smartphone version of the app to confirm the study setup's feasibility and identify potential problems. Consequently, an email was sent to the participants inviting them to download the Ethica app and create an account. After approving the informed consent, the actual data collection started. Participants could choose between participating in the study in English and

German. The data collection lasted 14 days (from 22/11/2021 to 05/12/2021) with the same starting date for all participants to ease the data handling. The two-week data collection period was chosen based on recommendations indicating that this duration typically yields strong response rates (Conner & Lehman, 2012; Van Berkel et al., 2017).

An the first day, the participants had to fill out a baseline questionnaire, including demographic information (age, gender, sex, education, nationality, occupation) and other questionnaires not used in this study. The baseline questionnaire was intended to be completed at the start of the study but did not expire until the end of the data collection. Participants who did not complete the questionnaire immediately received three additional reminders over the two weeks. On the same day, the ESM sampling started. The daily ESM questionnaires included 12 items and were triggered semi-randomly within three predefined time intervals: morning (10 a.m. \pm 2 hours), afternoon (3 p.m. \pm 2 hours), and evening (8 p.m. \pm 2 hours; Faesing, 2022; Schleich, 2022). The study utilised three measurements per day to minimise participant burden and align with the specific research questions of the group, which did not necessitate more finely-tuned timeframes (Faesing, 2022; Schleich, 2022). The principle of time-contingent signal sampling was used to prevent participants from anticipating the notifications, while still maintaining a clear time frame. Moreover, a push notification was sent for each of the three trigger points, and the questionnaires expired two hours afterwards with a reminder of the expiration after 1 hour.

Measures

Baseline Questionnaires

In the original project, the baseline questionnaires consisted of 43 items measuring different trait variables and demographics. For this study, only the demographic information was utilised.

State Questionnaires

Again, multiple state measures were included in the original project, with SC and NA as the only relevant constructs for this study.

State Self-Compassion. State SC was measured with two momentary items: 'I feel kind towards myself' and 'I currently feel self-critical'. Participants replied on a 7-point Likert scale ranging from 1 (not at all) to 7 (very much). The self-criticism item was reversed, and mean scores were calculated for the two items to calculate each participant's observed state SC score. A split-half correlation between the scores of the first week and second week demonstrated a high internal reliability of r = 0.80.

State Negative Affect. Consistent with previous research, state NA was measured by four items. Two low-valence, low-arousal items (How 'down', 'guilty' do you feel right now?) and two low-valence, high-arousal items (How 'anxious', 'insecure' do you feel right now?) were used. Participants responded on a 7-point Likert scale ranging from 1 (not at all) to 7 (very much). The average was computed for the five items. A split-half correlation between the scores of the first and second week revealed a high reliability estimate of r = 0.85.

Data Analysis

The program R-Studio (version 2024.09.0+375) was used for all statistical analyses. Participants who completed less than 33% of the daily questionnaires were removed from the study, as this rate is commonly viewed as the minimum for ESM studies (Conner & Lehman, 2012). In terms of measures, the observed SC and NA scores were averaged to calculate the person mean (PM). Moreover, the person-mean centred score (PMC) was calculated by subtracting the individual observed state NA and SC scores from the PM scores (Hoffman & Walters, 2022). This disaggregates within-person effects by centring each participant's scores around their own mean, thus focusing on how variables change within individuals independently of differences between them (Kraiss et al., 2022). Additionally, by removing the first measure point from the variables PMC SC, PMC NA, state SC and state NA, lagged variables were created (t-1), namely, PMC SC lag, PMC NA lag, state SC lag and state NA lag.

Linear mixed models (LMM) were run with the 'nlme' package to analyse the first research question regarding the bivariate cross-lagged model. An LMM was chosen due to the random effects, which account for the hierarchical and nested structure, and for handling randomly missing values, which are typical in ESM data (Goldstein et al., 1993). Moreover, an autoregressive covariance structure (AR1) was selected to model correlations between measurements in ESM data, assuming that correlations weaken exponentially. AR1 is an important feature of the cross-lagged panel (Hamaker et al., 2018; Barnett et al., 2010). Additionally, for this analysis, random slopes were also included because the Akaike Information Criterion and the Bayesian Information Criterion indicated a better fit for the model with random intercepts and random slopes.

Subsequently, two LMM analyses were performed. For the first analysis, the dependent variable was state NA, and the independent variables were PMC SC lagged and state NA lagged. For the second LMM, state SC served as the dependent variable, PMC NA lagged, and state SC lagged were chosen as the independent variables. The two analyses were also conducted for each individual participant to examine heterogeneity in cross-lagged associations. A simple linear model (SLM) was fitted for each participant, with state NA as the dependent variable and PMS SC lag and state NA lag as independent variables. Similarly, a SLM was run for each participant with state SC as the dependent variable and PMS NA lag and state SC lag as independent variables. For the second research question, an LMM was again used to calculate the intraclass correlation coefficient (ICC) to compare the degree of within-and between variability of the observed state SC scores. In all analyses conducted, results with a p-value below 0.05 were considered statistically significant.

Results

Participants

The study collected data from 132 participants. However, 24 (18.2%) participants were removed due to not reaching the participation criteria of 33%. Thus, 108 participants were included in the final data set for the data analysis. The final sample had a mean age of 28.2 years (SD = 12.26), with participants ranging in age from 14 to 60 years. The average completion rate for state items among the remaining participants was 76.08% (SD = 42.60%, range 0.00 - 100.00%), which is considered a good response rate compared to the average response rate of 69.9% reported by Van Berkel et al. (2017). Additionally, the average completion rate for the demographics per participant was 99.62% (SD = 2.73%, range 80.00 - 100.00%), indicating high data completeness. An overview of the demographic information of the participants is presented in Table 1. Notably, the sample predominantly consisted of young German women.

Table 1

Demographic	N (%)
Gender	
Female	80 (74.1)
Male	26 (24.1)
Other	2 (1.9)
Nationality	
German	81 (75.0)
Dutch	17 (15.7)
Other	10 (9.3)
Education	
Middle school	10 (9.3)
High school	53 (49.1)
Bachelor	30 (27.8)

Overview Demographics of the Participants (N = 108)

Master	11 (10.2)	
Other	4 (3.8)	
Occupation		
Working	40 (37.0)	
Student	36 (33.3)	
Studying and Working	25 (23.2)	
Self-employed	4 (2.8)	
Other	4 (3.8)	
Not Working	0 (0)	

Note. Frequencies (N) and percentages (%).

Additionally, statistics regarding the measures are summarised in Table 2 and visualised

in Figure 2.

Table 2

.

Overview Measures

Measures	Mean	Median	SD	Range
State Self-Compassion	4.58	4.5	1.23	1-7
Person Mean-Centred Self Compassion	0	0.05	0.93	-3.82 - 2.98
State Negative Affect	2.2	2	1.20	1-7
Person Mean-Centred Negative Affect	0	-0.09	0.83	-2.93 - 4.71

Figure 2

Boxplots of Measures



The relationship of state SC and PMC NA lagged is displayed in Figure 3. A weak negative relationship becomes visually apparent. Additionally, the two variables showed a correlation of r = -0.12.

Figure 3

Scatterplot State Self-Compassion and Person Mean-Centred Negative Affect Lagged



In Figure 4, the relationship between state NA and PMC SC lag is shown in a scatterplot,

and again, a weak negative trend becomes apparent. The correlation is r = -0.16.

Figure 4

Scatterplot State Negative Affect and Person Mean-Centred Self-Compassion Lagged



Cross-Lagged Panel Model of State Self-Compassion and State Negative Affect

The analysis results for hypothesis one can be seen in Table 2. No significant association was found between PMC SC and state NA one moment later, while controlling for autoregressive effects.

Table 2

Fixed Effects Estimates for the Relationship Between Person Mean-Centred Self-Compassion Lagged and State Negative Affect

		Estimate	Std. Error	df -value	t-value	p-value
Intercept	1.54	0.	01	0.075	20.58	.001***
PMC SC lag	-0.0	0.	02	169.06	-0.63	.533
State NA lag	0.295	0.	02	2486.75	14.81	.001***
<i>Note.</i> Asterisks indicate statistical significance (* $p < 0.05$, ** $p < 0.01$, *** $p < 0.001$).						

The results of the same analyses for individual participants are in Appendix A. It can be seen that PMC SC affected state NA one moment later in six participants, with three positive and three negative associations that surpassed the threshold for statistical significance. In Figure 5, individual within-person associations are shown. Negative associations (N = 63) and positive associations (N = 45) were differentiated. The lowest individual association was -1.15, and the highest one was 0.55.

Figure 5

Individual Associations Between Person Mean-Centred Self-Compassion Lagged and State



Negative Affect

Table 3 shows that for hypothesis two, no significant association was found between PMC NA and state SC one moment later, while controlling for autoregressive effects.

Table 3

Fixed Effects Estimates for the Relationship Between Person Mean-Centred Negative Affect Lagged and State Self-Compassion

	Estimate	Std. Error	df -value	t-value	p-value
Intercept	3.55	0.11	670.1	31.92	.001**
PMC Na lag	0.02	0.03	162.00	0.76	.45
State SC lag	0.23	0.02	2852.00	11.34	.001**

Note. Asterisks indicate statistical significance (* p < 0.05, ** p < 0.01, *** p < 0.001).

At the individual level, analyses revealed that state NA predicted state SC one moment later in eight participants, with four positive and four negative associations (see Appendix B). Individual associations are displayed in Figure 6. The associations were predominantly

negative (N = 57), while 48 associations were positive. The lowest individual association was -1.15, and the highest had a value of 1.2.

Figure 6

Individual Associations between State Self-Compassion and Person Mean-Centred Negative



Affect Lagged

Self-Compassion Variations Between and Within Individuals

To answer the second research question, the ICC was found to be 0.41. The betweenperson variance was 0.64, and the within-person variance was 0.91, with standard deviations of 0.80 and 0.95. This indicates that 41% of the variance in SC scores in this data set is attributable to differences between individuals, while 59% is due to fluctuations within individuals over time. This is also visualised in Figure 7.

Figure 7



Distribution of State Self-Compassion Values by Participan

Discussion

This study examined the association between state SC and state NA in everyday life using a bivariate cross-lagged panel model ESM data. Primary analyses showed that state SC did not predict subsequent state NA, nor did state NA predict state SC, leading to the rejection of hypotheses one and two. Supporting hypothesis three, 41% of the variance in SC scores was due to between-person variability, while 59% was due to within-person fluctuations.

Cross-Lagged Panel Model of State Self-Compassion and State Negative Affect

Hypothesis one was rejected, as no significant predictive association was found between state SC and state NA. This outcome contrasts with most existing literature investigating the relationship between SC and NA at both the between-person and withinperson levels. A negative association has consistently been found at the between-person level, as demonstrated in the meta-analysis by Zessin et al. (2015). Although fewer studies have explored the state level of SC and NA, most have also found a negative association at the within-person level (e.g., Mey et al., 2023; Wiesmann, 2024), with exceptions like Allen and Leary (2010) and Ferrari and colleagues (2019), who did not find a significant association. However, since only Mey et al. (2023) investigated the predictive relationship, there are few comparative studies for hypothesis one. The findings of this study contradict the understanding of state SC as an adaptive mechanism that lowers NA (e.g., Neff et al., 2007; Odou & Brinker, 2014). Theoretically, a positive association should be apparent as individuals are expected to be kind to themselves when facing difficulties (e.g., Leary et al., 2007; Neff et al., 2007). Hypothesis two aimed to determine whether state NA can predict SC. The analysis did not support this hypothesis. Given that this relationship is relatively unexplored, there are few similar studies. Only Mey et al. (2023) investigated the predictive association of state NA on subsequent state SC and found a weak association.

There may be multiple reasons for these results. Mey and colleagues (2023) used six daily notifications for their data collection. The data for this study was collected through three measurements per day (Faesing, 2022; Schleich, 2022). However, for a study utilising a crosslagged panel model, a higher number of time points per day would have been preferable, as the current frequency may limit the depth of analysis, particularly for lagged assessments. The time between the notifications may have been too long to investigate the association momentarily. Additionally, Breines and Chen (2013) emphasise that SC can function differently across individuals, acting as a protective factor in only some contexts. So, more variables may need to be accounted for. Trait-level SC may play a key role in the moderation of the relationship. The hypothesis assumes that individuals respond to high NA with SC. However, the ability to use SC varies. Participants with low average SC might not increase in state SC following high NA if SC is not their usual coping strategy. Hanebaum (2021) found that the association between state SC and well-being depended on trait SC. A strong baseline SC level was suggested as essential for the effective use of SC during high NA moments (Hanebaum, 2025). Another moderator could be emotion regulation strategies. SC has been linked to adaptive strategies like cognitive reappraisal and negatively associated with maladaptive strategies, such as high levels of rumination (Inwood & Ferrari, 2018). Individuals who frequently engage in high levels of rumination may struggle to practice SC following high NA because rumination intensifies negative emotions and inhibits self-kindness (Raes, 2010). Conversely, those who utilise adaptive strategies are more likely to increase SC in response to NA, using it as a coping mechanism to reduce distress (Diedrich et al., 2014). A more statistical explanation for the results may be the restricted range of data. In this study, the mean state SC was high (M = 4.58)on a 7-point scale), which may indicate a ceiling effect, while the mean state NA was low (M = 2.2), potentially indicating a floor effect. This limited variability could reduce the ability to

detect significant associations because there is less fluctuation in scores to reveal predictive relationships.

Predictive Associations of the Bivariate Cross-Lagged Panel Model at the Individual Level

The individual analyses for hypotheses one and two revealed a few positive and negative associations, suggesting underlying mechanisms such as differences in emotional regulation. Participants with negative associations, where higher SC predicts lower subsequent NA, may effectively use SC to alleviate negative emotions, consistent with Neff's (2003) view of SC as an adaptive mechanism. Conversely, those with positive associations, where higher SC predicts higher NA, might experience increased awareness of negative emotions (Neff, 2003). The observed variability aligns with findings by Krieger et al. (2016), who noted that individuals with more depressive symptoms often struggle to maintain SC, intensifying negative emotions. This complex interplay reflects differences in coping styles, while again, a focus is on trait-level SC potentially moderating the associations (Hanebaum, 2021; Scott et al., 2024).

Within and Between Variability in State Self-Compassion

Hypothesis three was accepted, as the ICC indicated that state SC exhibits considerable within-person variability. Specifically, 41.2% of the variance in state SC was due to stable individual differences, while 58.8% reflects fluctuations within individuals over time. This result is consistent with previous research that found considerable fluctuation at the within-person level (e.g., Hanebaum, 2021; Mey et al., 2023). This pattern is also consistent with findings for affective states, where similar proportions of within-person variance have been reported (e.g., Nezlek, 2017). NA, for instance, typically exhibits an ICC between 0.40 and 0.50, indicating that approximately 60-50% of its variance is within-person (Mroczek et al., 2003). This finding further supports the idea that SC can significantly fluctuate within individuals, influenced by daily experiences and situations. These results support the

conceptualisation of SC as a state that fluctuates in response to situational factors and momentary experiences but also as a stable trait. Further, the finding underlines the decision to use a bivariate cross-lagged panel model, which necessitates within-person fluctuations.

Strengths and Limitations

To the best of current knowledge, this is the first study to examine the relationship between state SC and state NA using a cross-lagged panel approach with ESM data. By controlling for autocorrelation, often unaccounted for in prior research, a more precise depiction of the temporal dynamics between SC and NA was archived. ESM enabled the capture of moment-to-moment fluctuations, offering a nuanced view of their interplay in daily life and enhancing the ecological validity of the findings (Curran & Bauer, 2011; Shiffman et al., 2008). This approach to examining within-person, time-lagged associations sheds light on intra-individual processes and offers initial insights to inform future research in this field (Shiffman et al., 2008).

However, some limitations should be noted. The sample, primarily young, educated German women, limits generalisability to broader populations and reflects the convenience sampling used (Jager et al., 2017). State SC was measured with two items focused solely on self-kindness versus self-criticism, potentially missing dimensions of common humanity and mindfulness (Neff, 2003). Mey et al. (2023) found self-criticism to be more closely related to NA than self-kindness, aligning with research supporting a six-dimensional SC structure (Neff et al., 2021). Additionally, the sampling frequency of three times per day may not fully capture rapid fluctuations in SC and NA, potentially overlooking shorter-term dynamics. Finally, while cross-lagged panel modelling is often linked to causality, this nonexperimental longitudinal design cannot establish causal relationships (Bolger & Laurenceau, 2013).

Directions for Future Research

Future studies should aim to replicate these findings with more diverse samples to enhance the generalisability of the results. Increasing the frequency of ESM prompts may better capture rapid fluctuations in SC and NA, offering more profound insights into temporal dynamics (Myin-Germeys & Kuppens, 2022). Because the temporal dynamics between state NA and state SC are not yet clearly understood, conducting experimental studies with closely spaced time frames would be highly valuable. Additionally, expanding the number of items used to measure state SC could provide a more comprehensive assessment of the construct, capturing its multifaceted nature. Furthermore, employing experimental designs, such as micro-randomised trials, could provide causal evidence for the directionality of the relationship between SC and NA (Qian et al., 2022). Exploring potential moderating variables and mediating mechanisms could clarify the the associaton between state NA and state SC (Breines & Chen, 2013). For example, examining trait SC as a moderator or previous experience with SC or practices like SC meditation, as discussed by Mey et al. (2023). Finally, the interaction between NA and SC could be investigated by focusing specifically on moments when NA increases to provide a deeper understanding of their relationship.

Conclusion

This study explored the associations between state SC and state NA using a bivariate cross-lagged panel approach and ESM. No predictive bidirectional association between state SC and state NA was found. However, state SC showed substantial between and within-person variability, emphasising the importance of a state-level perspective. The distinctive approach of this study is the utilisation of a cross-lagged panel model to investigate the predictive associations of state SC and NA bidirectionally from a dynamic perspective, which has not been done before. Future research may conduct similar investigations using more frequent time

points and experimental designs, focusing on moderating variables to investigate the bidirectional association in everyday life.

References

- Bohlmeijer, E., & Hulsbergen, M. (2018). Using Positive Psychology Every Day: Learning How to Flourish. Routledge. https://doi.org/10.4324/9781351112918
- Breines, J. G., & Chen, S. (2013). Activating the inner caregiver: The role of support-giving schemas in increasing state self-compassion. *Journal of Experimental Social Psychology*, 49(1), 58–64. https://doi.org/10.1016/J.JESP.2012.07.015
- Conner, T. S., & Lehman, B. J. (2012). Getting Started: Launching a Study in Daily Life. InT. S. Conner & M. R. Mehl (Eds.), *Handbook of research methods for studying daily life* (pp. 89–107). The Guilford Press.
- Curran, P. J., & Bauer, D. J. (2011). The disaggregation of within-person and between-person effects in longitudinal models of change. *Annual Review of Psychology*, 62, 583–619. https://doi.org/10.1146/ANNUREV.PSYCH.093008.100356
- Diedrich, A., Grant, M., Hofmann, S. G., Hiller, W., & Berking, M. (2014). Self-compassion as an emotion regulation strategy in major depressive disorder. *Behaviour Research and Therapy*, 58, 43–51. https://doi.org/10.1016/J.BRAT.2014.05.006
- Faesing, L. (2022). Savouring in Everyday Life: An Experience Sampling Study Investigating the Associations Between Savouring Strategies, Savouring Regulation Diversity, Positive Events, and Emotional Well-Being [Unpublished master's thesis]. University of Twente.
- Faustino, B. (2022). A State-Trait Approach to Self-Compassion: Is It a Schema or a State of Mind? In J. J. Carmona (Ed.), *The Importance of Self-Efficacy and Self-Compassion* (Issue 4, pp. 91–105). Science Publishers. https://doi.org/10.1007/S12144-021-01560-7
- Ferrari, M., Hunt, C., Harrysunker, A., Abbott, M. J., Beath, A. P., & Einstein, D. A. (2019).
 Self-Compassion Interventions and Psychosocial Outcomes: a Meta-Analysis of RCTs. *Mindfulness*, 10(8), 1455–1473. https://doi.org/10.1007/S12671-019-011346/METRICS

Goldstein, H., Bryk, A. S., & Raudenbush, S. W. (1993). Hierarchical Linear Models:
Applications and Data Analysis Methods. In *Journal of the American Statistical Association* (2nd ed., Vol. 88, Issue 421). Sage Publications.
https://doi.org/10.2307/2290750

Hamaker, E. L., Asparouhov, T., Brose, A., Schmiedek, F., & Muthén, B. (2018). At the Frontiers of Modeling Intensive Longitudinal Data: Dynamic Structural Equation Models for the Affective Measurements from the COGITO Study. *Multivariate Behavioral Research*, *53*(6), 820–841. https://doi.org/10.1080/00273171.2018.1446819

- Hanebaum, N. (2021). State Self-compassion and Subjective Well-being: An Experience Sampling Study [Unpublished master's thesis]. *University of Twente*.
- Hoffman, L., & Walters, R. W. (2022). Catching Up on Multilevel Modeling. Annual Review of Psychology, 73, 659–689. https://doi.org/10.1146/ANNUREV-PSYCH-020821-103525

Inwood, E., & Ferrari, M. (2018). Mechanisms of Change in the Relationship between Self-Compassion, Emotion Regulation, and Mental Health: A Systematic Review. *Applied Psychology. Health and Well-Being*, *10*(2), 215–235.

https://doi.org/10.1111/APHW.12127

- Jager, J., Putnick, D. L., & Bornstein, M. H. (2017). More than Just Convenient: The Scientific Merits of Homogeneous Convenience Samples. *Monographs of the Society for Research in Child Development*, 82(2), 13. https://doi.org/10.1111/MONO.12296
- Keyes, C. L. M. (2005). Mental illness and/or mental health? Investigating axioms of the complete state model of health. *Journal of Consulting and Clinical Psychology*, 73(3), 539–548. https://doi.org/10.1037/0022-006X.73.3.539
- Kraiss, J. T., Kohlhoff, M., & ten Klooster, P. M. (2022). Disentangling between- and withinperson associations of psychological distress and mental well-being: An experience

sampling study examining the dual continua model of mental health among university students. *Current Psychology (New Brunswick, N.J.)*, *42*(20), 16789–16800. https://doi.org/10.1007/S12144-022-02942-1

- Luhmann, M., Hofmann, W., Eid, M., & Lucas, R. E. (2012). Subjective well-being and adaptation to life events: a meta-analysis. *Journal of Personality and Social Psychology*, *102*(3), 592–615. https://doi.org/10.1037/A0025948
- MacBeth, A., & Gumley, A. (2012). Exploring compassion: A meta-analysis of the association between self-compassion and psychopathology. *Clinical Psychology Review*, 32(6), 545–552. https://doi.org/10.1016/j.cpr.2012.06.003
- Mey, L. K., Wenzel, M., Morello, K., Rowland, Z., Kubiak, T., & Tüscher, O. (2023). Be
 Kind to Yourself: the Implications of Momentary Self-Compassion for Affective
 Dynamics and Well-Being in Daily Life. *Mindfulness*, *14*(3), 622–636.
 https://doi.org/10.1007/S12671-022-02050-Y/FIGURES/2
- Mroczek, D. K., Spiro, A., & Almeida, D. M. (2003). Between-and within-person variation in affect and personality over days and years: How basic and applied approaches can inform one another. *Ageing International*, 28(3), 260–278. https://doi.org/10.1007/S12126-002-1007-Z
- Muris, P., & Petrocchi, N. (2017). Protection or Vulnerability? A Meta-Analysis of the Relations Between the Positive and Negative Components of Self-Compassion and Psychopathology. *Clinical Psychology & Psychotherapy*, 24(2), 373–383. https://doi.org/10.1002/CPP.2005
- Myin-Germeys, I., Kasanova, Z., Vaessen, T., Vachon, H., Kirtley, O., Viechtbauer, W., & Reininghaus, U. (2018). Experience sampling methodology in mental health research: new insights and technical developments. *World Psychiatry*, 17(2), 123–132. https://doi.org/10.1002/WPS.20513

Neff, K. D. (2003a). Self-Compassion: An Alternative Conceptualisation of a Healthy Attitude Toward Oneself. *Self and Identity*, 2(2), 85–101. https://doi.org/10.1080/15298860309032

- Neff, K. D. (2003b). Self-Compassion: An Alternative Conceptualisation of a Healthy Attitude Toward Oneself. *Self and Identity*, 2(2), 85–101. https://doi.org/10.1080/15298860309032
- Neff, K. D. (2003c). The Development and Validation of a Scale to Measure Self-Compassion. *Self and Identity*, 2(3), 223–250. https://doi.org/10.1080/15298860309027

Neff, K. D. (2023). Self-Compassion: Theory, Method, Research, and Intervention. *Https://Doi.Org/10.1146/Annurev-Psych-032420-031047*, 74, 193–218. https://doi.org/10.1146/ANNUREV-PSYCH-032420-031047

- Neff, K. D., Rude, S. S., & Kirkpatrick, K. L. (2007). An examination of self-compassion in relation to positive psychological functioning and personality traits. *Journal of Research in Personality*, 41(4), 908–916. https://doi.org/10.1016/j.jrp.2006.08.002
- Nezlek, J. B. (2017). A practical guide to understanding reliability in studies of within-person variability. *Journal of Research in Personality*, 69, 149–155. https://doi.org/10.1016/J.JRP.2016.06.020
- Odou, N., & Brinker, J. (2015). Self-compassion, a better alternative to rumination than distraction as a response to negative mood. *Journal of Positive Psychology*, *10*(5), 447–457. https://doi.org/10.1080/17439760.2014.967800
- Qian, T., Walton, A. E., Collins, L. M., Klasnja, P., Lanza, S. T., Nahum-Shani, I., Rabbi, M., Russell, M. A., Walton, M. A., Yoo, H., & Murphy, S. A. (2022). The Micro-Randomised Trial for Developing Digital Interventions: Experimental Design and Data Analysis Considerations. *Psychological Methods*, *27*(5), 874–894. https://doi.org/10.1037/MET0000283

- Raes, F. (2010). Rumination and worry as mediators of the relationship between selfcompassion and depression and anxiety. *Personality and Individual Differences*, 48(6), 757–761. https://doi.org/10.1016/J.PAID.2010.01.023
- Schleich, A. (2022). Exploring the Associations between Gratitude, Stressful Events, and Emotional Well-Being and Distinguishing Between-and Within-Person Associations of Gratitude and Emotional Well-Being: an Experience Sampling Study [Unpublished master's thesis]. *University of Twente*.
- Scott, J. E. T., Mazzucchelli, T. G., Luszcz, M. A., Walker, R., & Windsor, T. D. (2024). Self-Compassion, Stressor Exposure, and Negative Affect: A Daily Diary Study of Older Adults. *The Journals of Gerontology: Series B*, 79(8).
 https://doi.org/10.1093/GERONB/GBAE101
- Seligman, M. E., & Csikszentmihalyi, M. (2000). Positive psychology. An introduction. *The American Psychologist*, 55(1), 5–14. https://doi.org/10.1037/0003-066X.55.1.5
- Shiffman, S., Stone, A. A., & Hufford, M. R. (2008). Ecological momentary assessment. Annual Review of Clinical Psychology, 4, 1–32.

https://doi.org/10.1146/ANNUREV.CLINPSY.3.022806.091415

https://doi.org/10.1080/15298868.2017.1422537

Stutts, L. A., Leary, M. R., Zeveney, A. S., & Hufnagle, A. S. (2018). A longitudinal analysis of the relationship between self-compassion and the psychological effects of perceived stress. *Self and Identity*, 17(6), 609–626.

Svendsen, J. L., Osnes, B., Binder, P. E., Dundas, I., Visted, E., Nordby, H., Schanche, E., & Sørensen, L. (2016). Trait Self-Compassion Reflects Emotional Flexibility Through an Association with High Vagally Mediated Heart Rate Variability. *Mindfulness*, 7(5), 1103. https://doi.org/10.1007/S12671-016-0549-1

- Terry, M. L., & Leary, M. R. (2011). Self-compassion, self-regulation, and health. *Self and Identity*, *10*(3), 352–362. https://doi.org/10.1080/15298868.2011.558404
- Trompetter, H. R., de Kleine, E., & Bohlmeijer, E. T. (2017). Why Does Positive Mental Health Buffer Against Psychopathology? An Exploratory Study on Self-Compassion as a Resilience Mechanism and Adaptive Emotion Regulation Strategy. *Cognitive Therapy and Research*, 41(3), 459–468. https://doi.org/10.1007/S10608-016-9774-0/FIGURES/2
- Van Berkel, N., Ferreira, D., & Kostakos, V. (2017). The experience sampling method on mobile devices. ACM Computing Surveys, 50(6). https://doi.org/10.1145/3123988
- Watson, D., Clark, L. A., & Tellegen, A. (1988). Development and Validation of Brief Measures of Positive and Negative Affect: The PANAS Scales. *Journal of Personality* and Social Psychology, 54(6), 1063–1070. https://doi.org/10.1037/0022-3514.54.6.1063
- Wiesmann, M. (2024). Distinguishing State and Trait Self-Compassion in Their Moderating Role on the Relationship between Stress and Affect [Unpublished master's thesis].
 University of Twente.
- Zessin, U., Dickhäuser, O., & Garbade, S. (2015). The Relationship Between Self-Compassion and Well-Being: A Meta-Analysis. *Applied Psychology: Health and Well-Being*, 7(3), 340–364. https://doi.org/10.1111/APHW.12051

Appendix A

Participan t ID	Estimate	Standard Error	t-value	p-value
1	-0.111	0.303	-0.366	.717
3	-0.190	0.104	-1.832	.076
4	0.065	0.186	0.348	.731
5	0.156	0.299	0.522	.607
6	0.449	0.213	2.103	.043*
8	-0.117	0.200	-0.586	.563
10	-0.456	0.351	-1.298	.207
11	0.176	0.339	0.519	.611
12	-0.469	0.259	-1.807	.079
13	-0.363	0.224	-1.619	.114
15	-0.152	0.248	-0.614	.544
16	-0.006	0.139	-0.042	.967
17	0.024	0.058	0.417	.679
18	0.090	0.146	0.620	.542
19	-0.650	0.528	-1.230	.234
20	-0.049	0.101	-0.488	.629
24	-0.779	0.419	-1.858	.080
25	-0.000	0.000	-0.749	.459
26	-0.076	0.080	-0.949	.349
27	-0.380	0.301	-1.264	.214
28	0.008	0.028	0.306	.762
29	0.078	0.146	0.529	.600
30	0.329	0.278	1.184	.244
31	0.044	0.102	0.434	.669
32	-0.216	0.193	-1.121	.269
33	-0.116	0.199	-0.584	.564
34	-0.181	0.113	-1.605	.117
35	-0.115	0.234	-0.493	.625
36	0.126	0.121	1.039	.312
37	-0.089	0.204	-0.436	.665
38	-0.024	0.160	-0.151	.881
39	0.151	0.252	0.599	.554
41	-0.179	0.043	-4.142	<.001***
42	0.013	0.082	0.157	.877
43	0.109	0.254	0.429	.671

Individual-Level Estimates for the Effect of Lagged Self-Compassion on State Negative Affect

Participan t ID	Estimate	Standard Error	t-value	p-value
44	0.003	0.240	0.013	.990
45	-0.066	0.294	-0.225	.824
47	-0.296	0.221	-1.341	.191
48	-0.331	0.300	-1.102	.279
49	-0.151	0.183	-0.827	.414
50	-0.115	0.339	-0.339	.736
52	-0.094	0.152	-0.615	.545
53	-0.110	0.107	-1.024	.312
56	0.160	0.306	0.522	.600
57	0.637	0.301	2.118	.046 ³
58	-0.375	0.205	-1.827	.09
59	-0.216	0.125	-1.729	.09
63	0.017	0.094	0.185	.85
64	0.320	0.283	1.130	.27
65	-0.573	0.406	-1.413	.17
66	0.316	0.247	1.277	.21
67	0.553	0.344	1.605	.13
68	-0.452	0.230	-1.968	.05
69	0.055	0.198	0.279	.78
70	-0.117	0.147	-0.795	.43
71	-0.194	0.128	-1.514	.13
72	0.118	0.193	0.613	.54
73	-0.082	0.159	-0.517	.60
74	0.199	0.236	0.841	.41
75	-0.133	0.234	-0.566	.57
76	-0.036	0.054	-0.670	.50
77	-0.384	0.255	-1.507	.14
78	-0.264	0.234	-1.130	.27
79	-0.007	0.206	-0.034	.97
81	0.027	0.054	0.504	.62
83	-0.198	0.076	-2.594	.014
84	0.062	0.074	0.846	.40
85	-0.094	0.071	-1.320	.19
86	-0.091	0.169	-0.541	.592
87	0.247	0.248	1.000	.33
88	-0.264	0.167	-1.588	.12
90	0.076	0.128	0.592	.56
91	0.035	0.220	0.158	.87′
92	0 096	0.046	2.086	0463

Participan t ID	Estimate	Standard Error	t-value	p-value
93	0.188	0.310	0.607	.555
94	0.145	0.204	0.712	.483
95	-0.204	0.155	-1.314	.198
96	-0.052	0.164	-0.315	.755
97	-0.168	0.160	-1.048	.301
98	0.031	0.151	0.207	.837
99	0.133	0.095	1.398	.172
101	-0.097	0.178	-0.545	.591
103	0.307	0.194	1.583	.122
104	-0.324	0.168	-1.929	.062
105	0.099	0.317	0.312	.758
106	-0.198	0.271	-0.733	.471
108	-0.098	0.071	-1.380	.178
110	-0.022	0.039	-0.567	.574
111	-0.740	0.423	-1.747	.096
112	-0.107	0.160	-0.670	.507
113	0.156	0.262	0.598	.555
114	0.012	0.160	0.076	.940
115	0.085	0.192	0.442	.662
116	-0.035	0.091	-0.390	.701
117	0.115	0.393	0.293	.774
119	-0.000	0.000	-0.531	.606
121	-0.037	0.109	-0.343	.737
122	0.113	0.066	1.708	.102
123	-0.024	0.105	-0.230	.820
124	-0.721	0.274	-2.636	.020*
127	0.122	0.106	1.155	.262
128	0.103	0.089	1.158	.264
129	0.107	0.073	1.477	.153
130	0.519	0.256	2.025	.060
131	-0.154	0.193	-0.799	.431
132	-0.600	0.424	-1.416	.171

Note. Asterisks indicate statistical significance (p < .05, $\mathbf{p} < .01$, p < .001).

Appendix B

Individual-Level Estimates for the Relationship Between State SC and State NA_lag

Participant ID	Estimate	Standard Error	t-value	p-value
1	-0.34	0.19	-1.81	.085
2	-0.30	0.36	-0.85	.401
3	1.13	0.39	2.86	.008**
4	0.68	0.36	1.88	.082
5	0.01	0.52	0.02	.988
6	-0.26	0.20	-1.32	.198
7	-0.38	0.36	-1.03	.313
8	0.22	0.56	0.40	.693
9	0.39	0.45	0.88	.410
10	0.39	0.20	1.98	.055
11	0.35	0.14	2.44	.020*
12	-0.04	0.67	-0.05	.957
13	0.11	0.19	0.56	.581
14	-0.81	0.63	-1.28	.209
15	-0.13	0.37	-0.35	.734
16	-0.34	0.49	-0.70	.506
17	-0.18	0.19	-0.99	.332
18	-0.18	0.24	-0.75	.458
19	0.06	0.18	0.35	.730
20	0.29	0.41	0.69	.492
21	-0.11	0.14	-0.78	.442
22	1.11	0.93	1.19	.242
23	0.05	0.34	0.16	.874
24	-0.16	0.25	-0.64	.527
25	-0.97	0.48	-2.03	.068
26	0.04	0.22	0.18	.857
27	0.10	0.21	0.47	.644
28	0.43	0.31	1.40	.171
29	0.16	0.23	0.68	.502
30	-0.37	0.72	-0.51	.624
31	-0.44	0.16	-2.75	.009**
32	0.01	0.18	0.06	.953
33	-0.02	0.22	-0.08	.937
34	0.53	0.88	0.60	.556
35	-0.05	0.38	-0.14	.893
36	-0.20	0.18	-1.07	.294

Participant ID	Estimate	Standard Error	t-value	p-value
37	-0.36	0.25	-1.43	.164
38	0.32	0.37	0.89	.388
39	0.02	0.25	0.07	.942
40	-0.13	0.28	-0.45	.658
41	-0.12	0.29	-0.41	.688
42	0.24	0.48	0.50	.620
43	0.39	0.31	1.26	.229
44	0.21	0.25	0.85	.399
45	-0.35	0.24	-1.45	.161
46	-0.58	0.24	-2.39	.036
47	-0.61	2.21	-0.28	.828
48	-0.27	0.22	-1.21	.234
49	-0.48	0.32	-1.49	.14
50	0.52	0.39	1.33	.214
51	-0.17	0.41	-0.41	.69.
52	0.34	0.13	2.53	.020
53	-1.10	0.45	-2.48	.048
54	0.07	0.12	0.58	.56
55	0.11	0.21	0.53	.602
56	-0.11	0.27	-0.42	.67
57	-0.13	0.20	-0.67	.50
58	0.21	0.20	1.06	.29
59	-0.10	0.51	-0.20	.84
60	0.09	0.15	0.61	.56
61	-0.13	0.34	-0.39	.70
62	0.62	0.49	1.26	.21
63	-0.23	0.34	-0.67	.51
64	-1.37	0.92	-1.49	.21
65	0.08	0.21	0.37	.71
66	1.00	2.20	0.46	.69
67	-0.03	0.35	-0.09	.93
68	0.30	0.68	0.45	.66
69	1.17	0.57	2.07	.046
70	-0.25	0.25	-1.00	.32:
71	-0.13	0.75	-0.17	.86
72	-0.13	0.17	-0.76	.454
73	-0.31	1.47	-0.21	.84
74	0.10	0.35	0.28	.78
75	-0.12	0.58	-0.21	.838

Participant ID	Estimate	Standard Error	t-value	p-value
76	1.05	1.10	0.95	.413
77	-0.12	0.53	-0.23	.824
78	0.07	0.21	0.34	.738
79	-0.36	0.48	-0.74	.469
80	-0.17	0.16	-1.07	.293
81	-0.12	0.18	-0.67	.508
82	0.08	0.48	0.18	.861
83	0.99	0.31	3.16	.005**
84	-0.09	0.12	-0.73	.469
85	-0.18	0.20	-0.92	.363
86	-0.37	0.19	-1.95	.070
87	0.06	0.31	0.19	.849
88	-0.36	0.49	-0.73	.472
89	0.42	0.60	0.69	.494
90	-0.03	0.13	-0.22	.828
91	-0.07	0.21	-0.32	.754
92	-0.21	0.37	-0.59	.564
93	0.40	0.29	1.41	.170
94	-1.01	0.32	-3.11	.005**
95	-0.69	1.23	-0.56	.588
96	0.06	0.23	0.28	.787
97	-0.09	0.82	-0.11	.915
98	0.32	0.39	0.81	.424
99	0.67	0.31	2.12	.067
100	-0.85	0.74	-1.15	.270
101	-0.25	0.56	-0.43	.679
102	0.36	0.26	1.39	.183
103	0.15	0.28	0.52	.623
104	-0.05	0.25	-0.22	.829

Note. Asterisks indicate statistical significance (p < .05, $\mathbf{p} < .01$, p < .001).